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- FIRST SEMESTEB-__A " B.Tech. (Evenmg)(Elec’mcaIEngg)
Sewp PLEM EXAMINATION - CER BRL201g

CEE-101 NETWORK ANALYSIS AND SYNTHESIS

Time: 3 Hours ‘Max. Marks: 50

Answer any FIVE questlons All questlons carry equal marks. Assume smtable )
missing data if any .

1 (a) Explain Superposition theorem with smtable diagrams. - ; (3)
~ (b) Determine the current lin the circuit of Fig.1 by Superposmon theorem.(7)
oA - :
B T lav SN % o
- T - . @¢n S)iev-
ST . _ :
\ . . . ) 5) -

2 (a) Explain the following theorems with the suitable diagrams:

(i) Norton's theorem

(if) Millman’s theorem

(b) Using Millman's theorem, f'nd the cuirent through 10 Q resnstance in the

circuit of Fig. 2. (5)
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3 (a) Derive relatlonshlp between deltaand star. . " g (5)
(b) Calculate. the value of resistance which- w1|| absorb’ maxnmum power in

the c:rcunt of Fig. 3. Also compute the maximum-power.
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the crrcunt shown in ]

4 Find the Y- parameters & ABCD parameters for e 7’__#/(10)
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. {a ) Explaln the Fourrer senes ? . .

i (b) Find the Fourler senes for the square wave shown in Flc 5. . (7)
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6. (a) Derive’ the expressron for the current in DC series'RC- cwcurt assuming
~ initial charge as 10 uC. _ - b

(b).The’ battery voltage is applied fora steady state p'eriod Obtain the

.. complete eXpressmn for the current after closing the switch K in the Fig. 6.
Assume Ri=1 Q, Rz—ZQ Li=1 H& V=

1OV. Calculate the value_ of current
—afterone. second of closing-of switch: :

(a) Orrented graph * :

(b) Tree & twigs g ) o (f) .
(c) Cut-sets ' B o : | ‘(‘.i.) -
(d) Cut-set matrix S o O

(3)



